Percent Composition
By Mass

· Part divided by the whole!

Find the % comp of calcium phosphate:

Ca3(PO4)2
3Ca = 3(40) = 120 g Ca

  

2P = 2(31) =      62 g P

  

8O = 8(16) =   128 g O




               ----------
This is the molecular weight
(
   310 g Ca3(PO4)2
Mass of the component/Mass of the whole X 100
% Ca =  120/310 x 100 =     38.7 %

% P    =   62/310 x 100 =     20.0 %

  


% O   =  128/310 x 100 =    41.3 %









     ------------

100 %
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( Calculate % composition of:

	1. copper II sulfide

	2. glucose

	3. iron III oxide

	4. sucrose (C12H22O11)


Ca – 38.7%





O - 41.3%














P - 20.0%








